Biology
Section B (Subjective Type Questions)

16.

17

18.

19.

20.

If a plant is releasing carbon dioxide and taking in oxygen during the day, does it mean that
there is no photosynthesis occurring? Justify your answer.
uﬁﬂéﬂmﬁa%%%gﬁﬁmgaﬁsw%maﬁmﬁma Y =41 SHFT Adod I§

¥ T gepTer H2SNOT ST 81 W61 &7 e raTe & 3ifReT afea X

Why and how does water enter continuously into the root xylem?
agmgaﬂﬁmsﬁmﬁwhﬂtwmrma?

Does the occurrence of diversity of animals on earth suggest their diverse ancestry also?
Discuss this point in the light of evolution.
wqﬁwa@ﬁﬁmmmwwaarwmmmﬁ? faeraaTe & el 7 39
feig o) == |

Evolution has exhibited a greater stability of molecular structure when compared with
morphological structures. Comment on the statement and justify your opinion.
Wmﬁﬁwﬁﬁmﬁwmﬁmﬁzﬂmmﬁm%l HYA T

Rroqoft PifSrT 3R 379 A 1 9T AT

(i) Can a plant flowering in Mumbai be pollinated by pollen grains of the same species
growing in
New Delhi? Provide explanation to your answer.
m@ﬁwmwﬁmmammm%mmm%ﬁﬂéﬁﬁhﬁ
ZT £? 379eT 3 T TS &

(i) Draw the diagram of a pistil where pollination has successfully occurred. Lebel the
parts involved in reaching the male gamets to its desired destination. .

T TR 1 217 SoIST SeT IeTOT FRATd g3 &l A YIFH FN 36 Freod Aded TH
q“g’aﬁﬁan‘r’ﬁamﬁaﬁrﬁﬁﬂaﬁl
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14. Which of the following statement is incorrect?

15.

(a) A person of ‘0’ blood group has anti ‘A" anti ‘B’ antibodies in his blood plasma

(b) A person of B blood group cannot donate blood to a person of A blood group

(c) blood group case designated on the basis for the presence of antibodies in the blood
plasma

(d) A person of AB blood group is universal recipient

AT T T FlT aTHFAF Tad o

(a) 'O' T8 [T & T & <3 CllGHT H'A' T B WSS &I &

(b) B T8 [T &7 AT A T3 I F A ere] 1 €018 SNAC AGT HX Hebell ¢

(C) T THg T HIHA (e CelloAT F TS 1 3uTRAT F IMUR IR ARG har s g
(d) Tl Tt TIHE T cafad Tasi A gredshdl &

Consider about excretion in animals.

1. Reptile has very small glomeruli to conserve water they release uric acid

2. Dogfish is a ammonotelic

3. Ampbhibian has large size glomeruli excrete dilute urea

4. Mammals has moderate size glomerulus and long loop of henle release hypertonic urine

STTaRt # 3ot & IR # R Y|

1. YeeTger 3 g oS oYgeY aTet T 35 TRET & fore gl o e A

2. STeTfher weh JTFEAICTor &

3. CfEERRTET 92 3R T TANAT TFIEE Iel IRAT &

4. TITTRET 3 FHEH HTHR T TAFETH BTl & 3R Hgar Relrst STgRel s FF H el o[
BT

(a) 1,2 and 3 are correct (b) 1,2 and 4 are correct
(c} 1,3 and 4 are correct (d) 2,3 and 4 are correct
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11.

12.

13,

2. EHASRY EART oG ITRIA F1 AfAgdaT gorcaAs [fagsws & §9 7 Jem e
3. G ST 3 T 50,000 ST A

2. Eifnfear v der & o Ao ¥

IRET FIAT 7 § vl a8
(a) Two. (b) Three
(b) Four. (d) One

In how many steps dehydrogenation or oxidation occurs in krebs cycle?

Feu TF F el TXUT AeTeleor AT 3T giar &7
(a) Two (b) Three
(c) Four (d) Five

A farmer grows cucumber plant in his field. He wants to increase the number of female
flowers in them.Which plant growth regulator can be applied to achieve this?

T fheTe 397 W F Fhst & T 39 g1 dF SAH el Tel of J&IT Tl
AEAT ¥l 5H UIoT el & fov §IF fadra e & 41 oe) fohar ST HehdT &2

(a) Auxin/Cytokinin/Ethylene (b) Gibbereilin/Cytokinin/E_therne
(c) Auxin/Gibberellin/Ethylene (d) Gibberellin/Cytokinin/Abscisic acid

During the process of blood clotting considered the following.

1. fibrinogen is a high molecular weight globulin protein produced by liver

2. Fibrin monomer or have a tendency to undergo polymerization to form long fibres
3. Fibrin stabilising factor mainly released by platelets.

4. Prothrombin is also called clotting factor IV

T & gaF S0 H ufhar & ger Peafef@a w faar B

1. wRfeee tF 3Ta Aifas AR Teegfee W § ot faaw gart Rf#AdT @ar &
2. FEfee AR A7 FF FESR A & AT NAHATSINT F o Y G &
3. AGT §9 § colcaed GarT ST Wighe FRefAemsfonT hee|

4, & P Falicd hael IV gl JAT §

(a) 1,2 and 3 are correct (b) 1,2 and 4 are correct
(c) 1,3 and 4 are correct (d) 2,3 and 4 are correct
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g oEiage ROEHE I
(a) pand Q (b)QandR
(c)RandsS (d)PandS

A student was asked to observe and identify the various parts of an embryo of a red kidney
bean seed. He identified the parts and listed them as under:

I.Tegmen Il.Testa lll. Cotyledon IV.Radicle V.Plumule

The correctly identified parts amongst these are:

T BTF &I a1 51l i iaT & Teh U1 & fafdest REql &1 fAdie1or st HR vgrrtal & forw st
IATAT| 3oglel HIFNT Y Gget &I AR 3¢ Aw=ar gellaey fha:
aa ILeFe L R VRS V.o

SH & G 98T 9T HIT 8
(@) I, land Il (b)1, 1l and IV
() m, v, and vV (d) 1, L, IV and V

Which of the following statement is/ are true
1. Uneven thickening of cell wall is characteristic of sclerenchyma

. 2. Periblem forms the cortex of the stem and the root

3. Tracheids are the chief water transporting elements in gymnosperm

4, Companion cells is devoid of nucleus at maturity

10.

5. The commercial chork is obtained from quercus suber

Rl Fa R T FIT T e/ &

1.9 $r SR FHT 3HART AT BT TFAHSAT Hr {Adwar §
2907 ©HF AR F¢ & HEFT Folram §

3. ¢frew oieest & e oo aftaeer aca §

4.7l FRFT IRIYFaar F gaT AifAF & R e &

5. HIARTIS Hids T Fehel Fo & et FoRar Srem &

(a) 1and 4 only (b) 2 and 3 only
(c) 3and 4 only (d) 2,3and5 only

Read the following four statement

1. In transcription Adinosine pairs with uracil

2. Regulation of lac operon by repressor referred to as positive regulation
3. The human genome had approximately 50,000 genes

4. Haemophilia is a sex linked recessive disease L

How many of the above statements are right

@ IR wue u¢
1. PRAT & T Ffdel@a Adinosine Siig H
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SreeTe Wil A1 & e HLA Bl & 3R AISCICHToH H FUEATIR glcl o
4. DNA copies are synthesized inside the cytoplasm and migrate into nucleus
AT YTAAT HISEITATH o 31T AN gl & 3T A1fHe & Tanarala gt
(a) 1,2 and 3 are correct (b) 2, 3 and 4 are correct
(c) 1and 2 are correct (d) 2 and 3 are correct

. Consider the following regarding reproduction

YSielel & Gt H faeaifaidd 9 faar &Y

1. female gamete is large germ-cell and stores food
W%Wﬁaﬁﬂﬁﬁlﬂ%ﬂﬁ?ﬁ?%ﬂ#mﬁﬁ?

2. male gamete is smaller and likely to be motile
Aol Aeie BieT 3R Fad g & FHGAT &

3. Insimple organisms two germ cells are exactly similar to their parents
|TEROT ST A &Y Wenv] IRAAIT 379et ATT-TAAT & FAT Bl &

4. Sexual reproduction is a cause of variation but not of evolution

AT ToTeTeT THe=AaT T FROT &, JAfehet 91T 1 781
(a) 1,2 and 3 are correct (b) 2,3 and 4 are correct
(c) 1,3 and 4 are correct (d) 1,2 and 4 are correct

. If the vas deferens in the male is blocked then.
I qo9 3 A e rasey gl Sira & ot
1. sperm transfer will be prevented but sperm production will continue
QISHIUT FECITRUT T ST oA fehe QSHIV] ScuTeet ST TgITm
2. sperm transfer will be prevented and sperm production stopped
QIFRIV] FEAIAILOT JehT ST X QYFHIV] ScdTeet a6 & f&ar
3. sperm transfer will be prevented but semen transfer will continue

T TR Y AT ST Sifhet a1 S gH S @9

4. sperm transfer and semen transfer will be prevented

T3 TEET 3T A TTEET HY AT ST FHAT
(@) 1 and 2 are correct (b) 1 and 3 are correct
(c) 2 and 3 are correct (d) 2 and 4 are correct

. Four students P, Q, R and S differently reported the following set of organs to be analogous.
TR ST, Y, IR 3R TH 7 30091-37619T 31911 & HHTa & 369 glel 1 Flal1 &
P — Fore limb of frog and fore limb of a Lizard
FHaeh I 3130- 3097 3R aehelr &1 3137 3797
Q — Fore limb of Bird and fore limb of a Human
S T 3737 397 3R AlTT & 7T 3T

R — Wings of Parrot and wings of a Butterfly
ard & 9@ 3R U fddell & 9@
S - Wings of Bird and wings of a Bat
fdTw it w3 3k [sw 3w T ae
The two students who have reported correctly are
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BIOLOGY

Section A
This section contains 15 multiple choice questions. Each question has 4 choices
(A), (B), (C) and (D) out of which ONE or MORE THAN ONE may be correct.
Marking scheme: for each correct answer +4 marks will be awarded and for each
wrong answer -1 mark will be awarded

1. People living at sea level have around 5 million RBCs per mm? of their blood where as those living at
an altitude of 5400 meters have around 8 million . This is because at high altitude:

T e O Tg= Aol 191 o AT 3T Terc o oAaeaT 5 faferae 3mRared g fAeh a1’ &, STet 5400
e Y TS TX Tgat arelt it FET wanseT 8 AT §1 SHe FROTIE § R SR R

(a) People eat more nutritive food, therefore more RBCs are formed

(b) People get pollution free air to breath and more oxygen is available
St F e 3 ForT ST IRt gt faverel 3T TR aiferor e §

(c) Atmospheric o, level is less and hence more RBCs are needed to absorb the required amount of
0, to survive

qgHS 3T 2 T T & 3R saferT SN Taet & T 311 2 Y 3avae A F a0 F
& T 31fereh R T TaRg R gl & '

(d) There is more UV radiation which enhance RBCs production

3170 qRrdeTY AT & S 3R Seuree i derdr &

2. Seminal plasma in humans is rich in HTeia  YfReTor Collo T 7 HHH &

(a) Fructose, calcium and certain enzymes
(b) Fructose and calcium but no enzymes
(c) Glucose and certain enzymes but has no calcium

(d) Fructose and certain enzymes but poor in calcium

3. How many types of gametes will be produced in f, generation of a monohybrid cross of Mendel?
5ot ¥ U AAESHE HIF £, N e THR & FIHS H1 Scdie ohaT ST’

(a) 3 (b) 4
(c)8 (d) 16

4. The statements are correct about DNA SITaT & IR & HU TET &

1. The DNA in the cell nucleus is the information source fdr making protein

PReT AT o TAT HET T T FAT A &

2. If the information is changed. different proteins will be made
e SR deeT &1 STl 2, A AR W aere Srdar

3. DNA copies are synthesized inside the nucleus and migrate into cytoplasm

i1




€,

Aqueous solution of NaHCO; turns red litmus blue NaHCO, & STeild 8l oTdl folcHd &l
el T T &

d. Aqueous solution of NaHCOs; turns blue litmus red NaHCO; T STelld ®ler el ToleHd &I
ool &Y &aT &

15. Mark the correct statement(s) regarding electron affinity. SeieFglel SYaT & T H Fer
FYAT H AETAT

a.

0O o

electron affinity decreases top to bottom in a group.
T F&T A W F A TF Folagla TEYaT ged
electron affinity of Cl < F
electron affinity of F < Cl
electron affinityof 0 < S

Chemistry
Section B (Subjective Type Questions)

16.

17.

18.

19

20.

Explain with examples how the values of pH changes when acid, base or salts are dissolved in
neutral water:

3ETENOT Afed THSST T 3Fd, &R IT oaUT & 3Rl Sfdl # 8ic 9X pH &1 A S8 Seoldl
gl '

What is isomerism? What are the main reasons for isomerism? How many isomers of hexane are
there?

AT A gl 82 3T & T HROT FAT 872 5990 & foherel HATGHAT 87

What is the periodic law for modern long periodic table and why? Explain any three periodic
properties.

myfee & 3med @RoT & mEd e F@r g AR FA? el e dmad o S carear
EaEdl

What is the method of extraction of active metals at the top of the activity series Explain with
reason?

wfsharar Aol 7 T8 IR B urqai & frsedor 31 frar srar & FRoT afga sa?

Write the equation of haloform reaction and tell which compound the yellow precipitate belongs to.
What kind of compounds takes part in this reaction?

Fawia fRfEEaT # weeT fET T g ey R O 1 g sast) e @ & i s
3B AT AT 82
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10. Mark the correct statement(s) regarding Hydrolysis of Ester reaction WX & grsaifaara &

11.

12.

13.

14.

oY 7 TE HUAT Fr RFET FL

a. It is acid catalyzed Tg 3FeT 3N Far &

b. It is base catalyzed Ig &R IR gar &

c. Hydrolysis of Ester is reversible in presence of base catalyst &R 38R ¥ 3ufeafy #
TEH & gregfa e gidadt & _

d. Hydrolysis of Ester is reversible in presence of acid catalyst 3iFeT 38R $I I9TEUTT 7
TE F gsgifafae fdadt &

Mark the correct statement(s) regarding acidic strength of carboxylic acids FTeffFsifars

s it 3l A F IR F 9 U F AT #7¥

a. Acetic acid is more acidic than formic acid Tfafes i@z wifE+ oige el 7 30w
3FelT BiaT &

b. formic acid is more acidic than acetic acid ®Iff& tiaz vfalts s & ot 7 31
HFAT & :

c. acetic acid is more acidic than H,CO; TRIfes ©fdz H,co, #r Tl A 30 e &

d. acetic acid is less acidic than NaHCO, tf@fes tfiig NaHCO, Jorer # FH 3T g

Mark the correct statement(s) regarding Hydrogenation of alkenes and alkynes 37edheT 3T

HehI3A & FISSISIAIUT & T H TE FUT Fr RAfETg w

a. Hydrogenation of Alkynes is faster as compared with Alkenes. 3edhleT ¥ &1 GECI)
HoHISA HT BIESISTAIFIUT aoF gar &

b. Hydrogenation of Alkynes is slower as compared with Alkenes. TeshreT & qefelr &
UehIge] HT ETggoteiontor AT g &

¢. During Hydrogenation catalyst Ni is oxidized. BISgISTNa0T & &R 3SRF Ni
3o ghar gl

d. During Hydrogenation catalyst Ni is reduced. BTSSISNERUT & 2R 35XF Ni FT
HqaTA g gl

In chlor alkali process FolR-8TR GTepaT

a. chlorine is produced at cathode FaliflsT 37 $HatE oy TFT grelr §

b. hydrogen is produced at anode g=ala=T T ¥=lT © TFT BT &

c. hydrogen is produced at cathode grggisi & ¥z W #aa gl 3

d. NaOH will be obtained at cathode HIf3TH g=23ruTss His wure & &

Mark the correct statement(s) regarding NaHCO; Tg! & &I Rifeead &1
a. NaHCO; is acidic salt NaHCO; 3 FNT T &
b. NaHCO; is basic salt &TRHIT orgor &




Which one is/are correct regarding extraction of copper?

A & AShYT F FeU FH FlT AHET &/ 82

(a) Main ore of copper is concentrated by gravity separation GICEC HAET 30T £l d_],brdlm
JUFHIVT GaRT AR FehaT ST &

(b) Main ore of copper is concentrated by froth flotation method GIEET HTT 3IED AT Sceellde]
fafer carT SR har Siar :

(c) Cu,S heated in presence of oxygen to convert it to Cu,O, Cu,O will automatically reduce to
Copper hence it is called self reduction method.

Cu,S Fr JiTerdsrer T 3ufRUfY & 7198 ek Cu,0 F aRafda fFaT JTar 8, Cu.0 &7 Tad: & HIR
37 HGFHIOT &7 SIU| SEIAT =W T Hgeior AT Fgr Srar &) '

(d) Cu,S partially roasted to Cu,O then it will automatically reduce to Copper. Cu;S FIANF TTH
Cu,0 # 3151 R SiTar & 6 Fae: € ST & HISHI0T 81 SATeeT

The salt whose aqueous solution turns biue Litmus to Red is ®Te fSraeT STl gl #i1el feleas 1

A I AT &
(a) Ammonium sulfate

(b) Sodium acetate

(c) Sodium Chloride

(d) Potassium Carbonate

When Cu is added to dil. HCl solution [Cu@T S/EedE HCl T H STofdl T
(a) CuCl will form [CuCl S=Y3Tm]

(b) CuCl, will form [CuCl, §=19T]

(c) H, gas will be librated [H, 3 fAemetam)
(d) None

9. Mark the correct statement(s) H&I &UsT 3ifha

a.

On burning in air saturated hydrocarbons give a clean flame while unsaturated carbon
compounds give yellow flame

BT 7 STofet IX HJocT GTSSIhTaT Ueh AT ol &cf & ST feh 3cject hreiel Alfares drer To1 1 it
a gl

Saturated hydrocarbons give addition reaction while unsaturated carbon compounds
give substitution reaction.

J

Unsaturated hydrocarbon decolorizes bromine water

I FEFFEA S T FT TEA HAT T

Unsaturated hydrocarbon decolorizes Alkaline Potassium Permanganate

IS FEHIS AT IR AT 1 T Rl §




CHEMISTRY

Section A
This section contains 15 multiple choice questions. Each question has 4 choices
(A), (B), (C) and (D) out of which ONE or MORE THAN ONE may be correct.
Marking scheme: for each correct answer +4 marks WI|| be awarded and for each
wrong answer -1 mark will be awarded

1. It is given pH of a solution is 6.8
U o2l &l pH fear ar g 6.8
(a) Solution is acidic HERIT HFelT &
(b) Solution is basic Te[del B &
(c) pH decrease with decrease in temperature d9HTe] H HF & 91T pH gear ’é’l
(d) Anything acidic, basic or neutral e #ff T 3Feld, T IT eI

2. Acid base reaction is exothermic in nature. Arrange in the decreasing order of heat evolved during
' reaction

mwmqﬁﬁmméim*aﬁmﬁmﬁﬁmﬁ%mﬂﬁﬁmﬁ

1. HBr+ NaOH
2. NaOH + CH;COOH
3. NH4OH + CH3;COOCH

(a) 352>1 (b) 15253 (c) 2>1>3 (d) 253>1

3 Electronegativity of elements A, B, C, D and E are 1, 2, 3, 3.5 and 0.82 respectively
dcdl A, B, C,D 3R E #r Regd®umcasdr H#A30: 1, 2, 3, 3.53R 0.82 &
(a) Bond between A and E will be covalent A 3R E & 1T 94« FgddIoie a9
(b) Bond between A and C will be ionic A 31X C & & gt mafaies gham
(c) Bond between C and D will be ionic C 3R D & & 4«7 GgHdlsTE g9
(d) Bond between B and D will be pure ionic E 3T A & s S ey AT g1

4.  Statement(s) true regarding co-ordinate Bond 3U-TgHISl §9 & HaY H FUA Tel &
(a) transfer of electrons takes place SAFEIAT &l TATATARYT &IcT &
(b) sharing of electrons takes place oiFcie AT &1 &
(c) itis having ionic nature Ig 3TAfaieh JehfcT arell &
(d) itis having covalent nature ¥g HgHdNTH TH{d &

5. One of the reasons for large number of carbon compound is Isomerism. Carbon compound show
Isomerism because carbon

W%a@%mﬁﬂﬁa@ﬁ#waﬂwﬁﬁ#wém FIa & AR F TG
g T FROT &

(a) shows Catenation Property 3&@eia

(b) forms Covalent Bond Tg&dIssh a4

(c) can combine with other elements easily T & 3 deal & AU G4 X Hhdl &

(d) is tetravalent IR HITSTaHAT




15.

The magnitude of electric charge faege 3aer & A

(a) depends on the observer. Tid&T® T I T B

(b) has a constant ratio with its mass. 39a GEIAT & AT TH @IS Heqdrd # T & |

(c) has different ratio with mass for different observers 3elal-3eaT qdd&Th! 'q\'. T gegda= & a9y
e feet Jegara & A & |

(d) may or may not have mass. GeaARRIRd AT GEAHEETR 81 Tehdl ¢

Physics
Section B (Subjective Type Questions)

16.

17.

18.

19.

20.

Explain with reactions the working of Daniell Cell. Also explain how to prevent polarization.

e e & FRYOTR F vaERE HREFERT aRd aEsmgwl g7 i FaT & gdeor &
&u U1 AT

Explain in detail how energy is produced in fission reaction; Support your answer with appropriate
nuclear reactions.

Rrdesd AEEar d 97T 59 30 g & BER § §ESET 39S 3 &1 aAdd 3R
A wfAfRaT garr A

Explain in detail the principle and working of D.C. motor.

D.C. AeY & fAguid 3R AR #1 {FdR & gz

A bulb is situated at a depth of h below the free surface of water of absolute refractive index n what
fraction of light emitted by the spherical bulb will go out in the atmosphere?

UF 64 n RUET HUGSAE & U T HFT Telg $ Al h H TS W UG §| SR Tod GarT
ScHTSTe TahTer &1 fhclall 32T agHSe # STeT SATeeT?

Explain how marine animal remain alive in frozen lakes in extreme winter.

STt @ At wd & ST et sl gg el 7 FF Sifad wd g




10.

11,

12

13.

14,

(b) 20m/s &
(c) independent of the position of the fish. @l #1 Fafd & Tad7g|
(d) given by none of the above. 300add F & FEf FweT TE 81 &1

In nuclear fission process moderators are used to slow down the neutrons because
ReAT] s T 3 7eier A A F F T Als¥ex 1 39T R S g
Fifh
{a) high velocity neutrons cannot cause fission.

3T A dlel gl fAEse 7Ag X Hehel |
(b) high velocity neutrons can produce high energy

3Td 37 aTel FhgIe 3T Fol 3cdeed I ol §

(c) controlled energy.
(d) none of the above 3qea & ¥ F$eN RAheT T& €T &1

Proton-proton cycle is the reaction that feid-Aiele T dg Ufafehdr g S

(a) takes place in a nucleus. T& wATfAEH H gIdT 2|

(b) takes place ina cell. T T F g7 8|

(c) cannot be controlled. AT #&T H I FSHeT Bl

(d) is used to explain fusion reaction in the Sun. §F # glel dTell Hordel TATHAT &
SYTEAT AT g

Wavelength of micro waves has the range
eR ot (ATsEIaa) A1 aler e f A g &

(a) 400nm to 750nm (b1 mm=1m
(c)1nm-=0.1nm (d) none of the above.

Back emf is produced in SF EMF 3cTeeT grar &

(a) D.C. motor. (b) A.C. motor.
(c) A.C. generator. (d) none of the above

A vertical object AB of height 0.5 m is standing perpendicular on the principal Axis CB of a concave

mirror of radius of curvature 1 metre. A ray starting from point A of the object and parallel to the

principal axis passes through a point Q on the axis after reflection. The distance of Q from the pole

of the mirror is

0.5 HeX Fa1E T UF FtATR aFg AB 1 Hiex &I aFar 3ear & Haad gdor FT HEF e CB
& vaad fua &1 Rig A ¥ I archl ta ATT 38 F FHAeR 0T Wada & dlg Je 36T

w fua g Q & gt Sdie| gdor & ga & QF glr L

(a) 0.5 metre. 0.5 X gl (b) 0.42 metre. 0.42 #reX &1
(c) 0.4 metre. 0.4 #HeX &1 (d) None of the above is correct. 3RIFd H & FIs AT
aEY Al & '




(¢) This work is equal to the work done by the external agent. Ig FJ FE Tsic &anT fFT T
HE & T g
(d) All of the above are correct. 3IRIeFd AT FET &

Radioactive decay If3atert arr

(a) is a spontanecus emission of charged particles to more stable nucleus. s R arfas &
T A FHoll & Fad: et ol

(b) spontaneous emission of Alpha, Beta and Gamma to produce more stable nucleus. 3O R
AT 1 RATOT et o o e, dier 3R I 7 FE T I B

(c) is dependent on the size of the radioactive nucleus. IfZatersl AT & 3R X AR Far gl

(d) is independent of the size of the nucleus. I3ATerHT ATfAF & INTFR R AR AL FaT &

Temperature of a body is the measurement T&T FEJ HT ATIATT A9E

(a) of degree of hotness or coldness of a body. T a&d I ITATEE IT S5 T AT

(b) motion of the particles in the body. &g & 3iex # Hvif Hr 71|

(c) motion of all the particles of the body in the reference frame of the earth e & T A A
R ¥ 37 3 Tl it By

(d) all above are correct. SURTFd Tl TET &)

Two concave mirrors are facing each other along a common principal axis. The distance
between them so that a single image of an object placed on the principal axis is formed, is
ar Hade guuT ITHS HIH § AT Al T JET HET TH & &1 3o at F A dr g
forcetr g1 T8 ol 38T W @ 915 el aq &1 v gfafes aa?

(a) 2f (b) f

(c) 4f (d) all of the above are correct.

The transverse magnification due to a convex lens can be numerically equal to one when
distance of the object from the optical centre is

39 9 & USRS g W aEg B gl Fhael & Y o & G@nr IRy Jratea
TEIIHE ®9 & TF @l

(a) 2f (b) Zero

(c) f (d) all of the above.

A fish is at a depth of h below the free surface of water. It sees a bird diving directly
towards it at a speed v = 15m/s. Refractive index of water is 4/3. The speed of the bird
observed by the fish is :

TF HTel Il T T8 F A h TS R BUT &1 Ig AT TF &l & A e i

3ﬂ?v=15m/s$r3ﬂ?r§%ra'@?ﬁ%l el &1 39ddeid 4/3 81 AT $ Ydid gler arell
geil T arer
(a) 25 m/s &




PHYSICS

Section A
This section contains 15 multiple choice questions. Each question has 4 choices
(A), (B), (C) and (D) out of which ONE or MORE THAN ONE may be correct.
Marking scheme: for each correct answer +4 marks will be awarded and for each
wrong answer -1 mark will be awarded

1 To an observer inside water the inside surface of water seems like a

1Y & 3eX U YAdaTS & forw, I1eiT T 37eT T Tde 9 &
(a) perfectly reflecting mirror. T3 o & wfafafee gdor|

(b) perfectly reflecting mirror with & hole. T & & &Y q{t ae & Ffafafaa gdor|
(c) perfectly reflecting mirror with a hole whose radius increases with depth below the water

surface. U 3¢ & T U aXE & wfafafea gdor e Bsar =l 6 gag & A 708 & T
g5 &l
(d) transparent surface. IRG2I TdE|

2. When a real object moves towards a convex mirror, STe 1% aredTde I 3ael GUUT T 3R el B,
(a) its image moves away from the mirror. 3T FTatase UUT § &I el ATl g
(b) its image moves towards the mirror. 3T SfafaFa gdor it AR afd FHar gl
(c) average velocity of the object and image with respect to the mirror are same. & AT
gfafess &1 a3 aUor & amaT A A gl
(d) average velocities of the object and the image are the same. a&q 3R Ffafees & 3iad o
AT § &

3.  Electromagnetic induction in a circuit may take place when there is ®fde # fdegd Traahra IoT &1
qFdT & S
(a) change in magnetic field through the circuit. H%e & ATeTH & gahig &7 7 yRacdeT
(b) change in area of the circuit. @féhe & &awer  gRadT &l |
(c) movement of the arms of the circuit. &fde &t ST A AT |
(d) rotation of the circuit. Tfehe T LA T |

4, Electric potential difference is the work done in moving a unit positive charge from one point to
another point.Mark the correct option(s).

ey RAsareer U 391§ UeTcH AL HT U fig & g fiig W of Srel o forarm aram rd &1 @6l
fareq &1 AEAT HL
(@) This work is done by the electric field I F13 ey &TF gaRT T SiTaT &

(b) This work is done by an external agent. Ig &1 AEIH Al GaRT [HIT ST &1




